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Sample Paper – 2010
Class – X

Subject –Mathematics
GENERAL INSRTUCTIONS:-
The question paper consists of 30 questions divided into four sections– A, B, C and D. Section A comprises of ten questions of 1 mark each, Section B comprises of five questions of 2 marks each, Section C comprises of ten questions of 3 marks each, and Section D comprises of five questions of 6 marks each.
SECTION – A

1. Write a rational number between 
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and 
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.

2. If 
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3. ΔABC is an isosceles triangle in which AB = AC circumscribing a circle. Show that BC is bisected at the point of contact.

4. Write the next term of the AP : 
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5. What type of lines are represented by the following equations : 
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6. If one zero of the polynomial 
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, is negative of the other, find the value of k.

7. Find the nature of roots of the quadratic equation 
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8. Find the perimeter of a protector whose diameter is 14 cm.

9. The probability of winning a game is 
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5

. What is the probability of losing the game?

10. In ABC, DE II BC and DE =
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3

BC , find ar(ΔADE) if ar(ΔABC) =36 cm2.
SECTION – B
11. Find a quadratic polynomial whose sum and product of zeros are 5 and 6 respectively.

12. Find the 8th term from the last term (towards the first term) of the AP : 3, 13, 23, … 453.

13. The distance of a point from (4, 3) is 
[image: image12.wmf]10

. If the ordinate of the point is twice the abscissa, find the co-ordinates of the point.

14. (ABC is right angled at A, AD ( BC; prove that AB2 – AC2 = BD2 – CD2.

15. Find the value of tan 60° geometrically. 

OR

If 
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SECTION – C

16. Find the sum of all multiples of 7 lying between 500 and 800.

17. Prove that 
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 is irrational.
18. A sailor goes 8 km upstream and 24 km downstream in 4 hours. He can also go 12 km upstream and 12 km downstream in the same time. Find the speed of the sailor in still water and the speed of the current.

OR

Solve for x and y : 
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19. Find a point on X-axis which is equidistant from (2, -5) and (-2, 9).

20. A box contains discs numbered from 5 to 24. One disc is drawn at random from the box. Find the probability that it :

(i) A two digit even number.

(ii) A prime number.

(iii) A perfect square number.

21. Prove that : 
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22. Find the area of the quadrilateral ABCD whose vertices are A(−4, −2), B(−3,−5), C (3, −2) and D (2, 3).
23. Prove that the area of an equilateral triangle described on one side of an isosceles right triangle is equal to half the area of the equilateral triangle described on its hypotenuse.

24. Construct a (ABC in which AB = 6.5 cm, B = 60( and BC = 5.5 cm. also construct AB’C’ ( ABC whose sides are 
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times the corresponding sides of (ABC.
25. A chord of a circle of radius 10 cm subtends an angle of 120( at the centre. Find the area of the corresponding segment of the circle. 
(Take  ( =3.14 and 
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 = 1.73 )


OR
The area of an equilateral triangle is 
[image: image21.wmf]3
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cm2. Taking each angular point as centre, circles are drawn with radius equal to half the length of the side of the triangle. Find the area of triangle not included in the circles. [Take
[image: image22.wmf]3

= 1.73]

SECTION – D
26. Solve the following equation for x:

9x2 − 9(a + b)x + (2a2 + 5ab + 2b2) = 0

OR
A passenger train takes 2 hours less for a journey of 300km if its speed is increased by 5km/h from its usual speed. Find the usual speed.

27. Prove that the lengths of the tangents drawn from an external point to a circle are equal. Using the above theorem, prove that:

If quadrilateral ABCD is circumscribing a circle, then AB + CD = AD + BC

28. Find the mean, median and mode of the following frequency distribution:

	Class interval
	15 - 25
	25 - 35
	35 - 45
	45 - 55
	55 - 65
	65 - 75
	75 - 85

	frequency
	6
	11
	7
	4
	4
	2
	1


29. An aeroplane when flying at a height of 3125 m from the ground passes vertically below another plane at an instant when the angles of elevation of the two planes from the same point on the ground are 30° and 60° respectively. Find the distance between the two planes at that instant.
30. A bucket made up of a metal sheet is in the form of a frustum of a cone. Its depth is 24 cm and the diameters of the top and bottom are 30 cm and 10 cm respectively. Find the cost of milk which can completely fill the bucket at the rate of Rs 20 per litre and the cost of the metal sheet used, if it costs Rs 10 per 100 cm2. [ Take ( = 3.14 ] 
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